Mean Spectrum

fa (1077 erg em™2s7'47")

A (&) z = 1.38808

RMS Spectrum

T T T T

3000
A (R) z = 1.38806

4000

x(\t) = ( Data —
%/(410940-5180)=0.938=>1.007

Model ACsB,F ) / o x

4586%90
T ©

80

60

spectrum number
40

20

2000 3000

1<~6.00
bad:B17=0.20% A (B) z = 1.38806
4 = 0.016(19) x = 0.936(75) => 0.935(75)
rm026 med(mad) AC,B,F
I T T T T I T T T T I T T T T I T |l T | |l I T l| T T

-~ [t q MLM’“ I '““lh ! NN 3
i ' ' "1“ P yrm \o g r By &Y X
O S R W
I’ e T , o : L, __

e l""““““"""" [k s b 0 L' :

AT TP TP T I TR RTONTSN O FoY.

3000
A (R) z = 1.38806

30
F

- - : : raw

L - -

| ' 1

Nw \

| | )

5 | |

® 0 . ' RMSx

c S )

":| I 1 model

2 ‘m ' m”‘ ‘ BLR

'l—'< |

-2

Continuum Lightcurve
med(mad)%
— T

Ac(25548) —-4(16)% S/N 59 T

f) (10717 erg em™2s7'87")

8000
MJD — 2450000

BLR Lightcurve

—— 7
S/N BLR 5.7 MglI 11 CII] 12 |

o
=
m

=5

PR P PR P 14BLR
7000 7500 8000 8500 9000
MJD — 2450000
Phot Corrections
rm026 med(mad)% Ap 1
— —— v

L R |
Ap 100.00(26)% S/N —9.4
Prior(Ap) 5.0 %

@
=} 1 A 1 .
7000 7500 8000 8500 9000
MJD — 2450000
u = 0.0169(47) x = 0.931(22) => 0.931(22)
rm026 med(mad) AC,B,F
T T T T T T T T]

& and x
0.5

o = =7 = Lad

R — || L
7500 8000
MJD — 2450000

A - R — -
7000 8500 90Q0



